1.
L A ATATAVL MM N0
A 2002 200 1002 B
Find equivalent resistance bebtween points A and B
(1}5 k0 (210 k2 (3)50k0 (4)40 k2
Ans. (1)
e | 1 U e,
Sol. Resistance are in parallel equipment = 5 5[]_+ Eij"'ﬁ =R=5k0
2. Ratio of wavelenath of Ha & He in Balmer series
14 27 3 4
e ) S | e 4) —
(1) 30 (2) 55 (3) 2 {4) 3
Ans. (2]
Sel. ForHsa n=3—=n=2
L:R[l_l _R
Ay 4 9] 386
forHe N=d —anN=2
Qi 1]IR R
A, |4 18] B4 " 18
Y R 38 3.8 27
% 16 5R 6 4 20
3 At what temperature KE of axygen molecule will be double that of kinetic energy at 27°C
(1} 827*C {2} 627°C (3) 327°C 4y 2127°C
Ans, (3}
Sel. KE «T
by e Tz
KEy 300

T2=600k =327°C



Ans.

Ans.
Sol.

Ans.

Sol.

Ans.
Sol.

Ans.

Statement-2 : Area under the acceleration-time curve gives change in velocity.
(1) Statement-1 and statement-2 both are comect

(2} Statement-1 and statement-2 bath are incarrect

{3) Staterment-1 15 correct but statement-2 1s ncomect

(4] Statement-1 1s incorrect and statement-2 is carrect

(4)

Faor a small height-h, the ratio of acceleration due to gravity at a height h & at the surface of a planat of

radius R is

2n n 2n n
“]’ 1—E !.2} 1—ﬁ {3] 1""E H] ‘+ﬁ

(1
gn = g(1 = 2hiR)

Faor a series L-C-K Circuit at resonance find the quality factarif C = 625 pF, R=100QL=1H
(1)4000 {2) 2000 {3) 1000 (4) 6000
(1)

L 1 L 1 L 1 i
X B8 _=_’_-_ ' 4000
R Jc R RVC 100Y525<1072

A body of mass Skg having momentum of 10 kg mfs. Then a force of 2N acis for § sec in the direction of
inibial mementum. Find change in kinetic energy of body:

(1) 30 {2)10 {3) 20 (4) 40

(1)

New momentum = 20 kg-m's

10° 20°
K = =K, = =40
T8 e

Change in KE. = 30J

Length of a string is 90 cm & its fundamental frequency is 120Hz find length of another string under same
tension and same linear mass density if it's fundamental frequency 1s 180 Hz

(1}40 cm {2) 60 cm {3) 50 cm (4) B0 cm

(2)

fe=f¢

12080 =180
' =60 cm
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Ans.

10,

Ang.
Sal,

11.

Ans.

12,

Ans,

Clzctric paterdiad cue o8 poanl chedge 5« 1090 gt a pont is S0V, Cird distance-of fha gaint fram
charmge

(1143 em (2] 3em (3180m (4} 90 em

(4]

o

-
=

Qu i@ wheil™
T

=40

|
r (NS
= [ T

r= 0= 00=590cm

After 3 days, smolrt of redioactive subssnca undacayac 15 18 of s initial amaourt. After & daws amount
widecayad i B« 1&g, Find s silial amoont
(1}32gm {2] 255-gm (3) 64 gm (4] 40 gm
[Z]
Ty =1 daivs
2

1
My = 75 o

My = 32x8x 107 = Z56gm

High =nergy elechions, bonbatied on aomelal Dagel hen sdvch ol the Tallusang rays emiltsd @il be

(1] wisibés rays | 2] H==avs {3 Microsiavas (4} irfrared
2]

& bulles of mass 01 kg rravieg at 400 mds stnlias a woosen binck af mass 3.2 kg & get embeddad in it
IF woaden box ks on rough surtace and system steas after 20 m dsplacement. Find coethoient ot
fnicban

{1}0:a0 (7] 050 (3% MR (4} 26

4]

B mmiesilurs Sarssivalian
0.1 = d0] = [39+0.1 00
W =1ms
L P
D= 107 - Jas
100, 100

QNSNS peSa— ] JE
: =l 400
=25 = u=025
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13 rite the equalian al grogaction on x-2x0s af tene T "0 2 parlicle rmoving w»ath ceastant angdalan velocty o
oo 8 Sicalar path af redices [ Time penced af parbicle or circolar path e 6 sac

i x=F alr[;h'dlir‘-li {2} x =R cog ;En-dl'_r’]
) T
3] :{-HEII'I:?;-I+HL|""‘ (41 ¥wHcog ;ndlﬁ']

Ans. (4]

Sal. -::{nlq-ﬂ_:l-i
o] H

¥ = R COH at+
E[Hﬁ]

s s B |
where G — - -
g d

14 Equatinn af trgacdtanyg af o prajectile &y = ¢ - 2020 field & raximon beight of progecls will be
(120 m {215 m gy ikm (4} 2.5.m

Ans. (2]

Sal, thids = 1 ==l =1
=10

g = Tl — 1O0EE = 2 m
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Ans.

Amd,

17,

Ans,
Sal.

Ans.

Statem ent-1 = Cleciromegnet are made af Soft iran

Statem ent-Z © S5oft ran has beight magnetic pormeab lity (i} and |owe retenbvely
i1 }Statameart-1 and stabzrment 2 gath are comect

12| Statarmert- 1 and stabzrment-2 Doth are incarrect

(A} Statermert-1 = comect bat statemert-2 &5 inonmect

14| Statermert-1 5 moarrest and statamenk-2 5 canmsct

i1
yahich of the Tallowang rurmbers flve same Sanficant iigure
(2} 0.00%35 |b] 0 3700 {e] 150 (df 352
(1] Ok [@Fand ic) [21 (2}, (c] and:{d) (3% Cohy (b and {c) [di&lla b, candd
2]
Corect graph for Mossizy's aw vall De |
'n.';
k1]

(- z (2) z

¥ o
(3] : Y £

(2]

M nssley's law

o =alz -kl

. L d —_
Rarie of magnctc field at C and F é ¥ | ther find the valuc of «

(1}4 (7] 2 N i
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Emrr =g b e e —.

| AT LETPE
I:||: :I-I:I ._:ﬁl: + 1

Sal, i o
By 2R g IR
L'd_:ﬁ: iHll: :lq;_-' ."IFE-|
TE 1 [
15. Mumber densby of fres electrons i@ 8 = 10% per m? and cross sechon erea o ware 1g 2= 10~ and
currentin wire is 3 3 8 0§ drilt spesd isno® 104 mi's then roedll be
(1} 25 =124 2] | 25w 40-A 1) 2.5 = {0k e B S |
Ans. (2]

Sal, i=nesvy

%, 1 B
Ve e _ 1 = = 20 =196 100
med AR A1 L 2= Bw10Y 4

20, &n rp-n frensist o is aranged o oarmmon smilsr mode, Toesdiich = 100 %5 = Twall Find The mnimam

requirsd current e, so that the ansiskbr reachss fothe eclive regioh

) R = R
is
R
- 4 W m | upE
T iF
(VT s (2] 10 A ] 20 A oG B T

Ans. (2]

Bol. Forsaturaban region e 10

oz Taeg — kR = 1 =gy [10B0] = O =g = 1ma
- ima

lp === ——="10p"

6= 2T gmn - M

) Rr = 1K
E
15
—— Yo =1 volt
In |
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21,

Ans,

22,

&ns,

2

Ans.

Sal.

i‘l

Ans,

Sal.

Dirmensan of sarme physical guantiics are gresn

ENESS A [t |

(ki [ torquae 2

(rl coefficient.of viscasiby | 3 | 372

(d! | prossurs gradient ! A =t
(1] {3 2 ibs 3 [z 4 ] 1 - i2y[at 4401 1(c) 4 {ch4
(4] {2 2 by 3 <) " [d] 4 gy (af 3 k) 2 ) 1 (dpd
13

Power of waes emittid fram a lingar antonna is given &5
[} ase [2] ELreP 1) (20 Y [P
14}

If & used in Y .05 E 540 nmthen mngs wadth iz 2mm, IF eavelongth used 5 E10mm, And e new
Inrige wadih

(1 mm (712 mm AT ¥ mm 18] Emm

(]

Bk

f_ A

P 2y
Pz = 3mm

Crlaital anguilar mamentem of a-satellke is L f radius ofarbit s increasad by @ times the onainal radius
Fird mew angular momertum of sakeliine

(1] aL [2]3L {3}.BL b 8
(2]
|l =mer=m Iill:i—Mr .— rrl-..'r.l.";":'l.qtl
54 Le yr o 2 |-§1:r' L _ I.E{r.;;.L1=3-|_.=3i_ﬁ-
I, I '|||-'



